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1. Overall Description:

RAN2 discussed about the issue of possible misalignment between PTW and Coverage Window in IoT NTN (e.g., there is no PTW available for a UE when it is in coverage). 
Specifically, RAN2 would like to ask SA2 the following questions:
1) Whether the misalignment between PTW and Coverage Window exists in Rel-18 IoT NTN from SA2’s point of view?

2) If the answer 
to Q1 is yes, whether it needs to be solved by further enhancement besides any existing method

?
2. Actions:

To SA2
ACTION: 
RAN2 respectfully asks SA2 to provide feedback on
 the questions above.
3. Date of Next TSG-RAN WG2 Meetings:

TSG-RAN WG2 Meeting #123bis                9th - 13th October 2023

     Xiamen, China 

TSG-RAN WG2 Meeting #124
13th - 17th November 2023 

Chicago, USA

�Can we also ask if SA2 thinks the issue does not exist (or no enhancement is needed), how it is handled from CN?


�Do we need to mention network implementation or consider network implementation as one of existing methods?


�In our understanding, we just need to mention an issue is found from RAN2 perspective, as per agreement. We should avoid asking SA2 for the necessity of further enhancement since RAN2 never discussed on nor agreed with this.   





Send an LS to SA2 to ask about the issue about misalignment between PTW and Coverage Window (e.g., whether it needs to be solved and if yes, whether it can be solved by NW implementation)





For progress, we are fine with capturing the agreement in the LS 2) bullet, i.e., � 


2) If the answer to Q1 is yes, whether it needs to be solved and if yes, whether it can be solved by NW implementation?





�We can say “answer” for directness, no strong view though.
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